Best model for HELP J113604.910-011109.785 at z = 1.406 x2=1.18
OPTx?=1.13 IRx?=1.89 threshold (OPT IR)=19.25 [um]

2
10 3 . Stellar attenuated
E Y T Stellar unattenuated

1] }* m —— Dust emission
10 —— AGN emission
= Model spectrum
100 3 ® Model fluxes
§ M oObserved fluxes
— -1
> 10 3
£
Pl -2 ]
= 10
=
[N -
10 3
10—4 4
1073 5
x ]
5 ]
0% 4
© 1 ==f=(Obs-Mod)/Obs
3 ]
S ]
s ]
 O+rTN-41——————""T""==--——-|H T~ ——————-
hat ]
) ]
2 1
S ]
o -1 - CIGALE
(V]
[a'd

10° 10! 107 103 10 10° A
Observed wavelength [um]



